
## Item # Correct Answer
Primary
SE

Secondary
SE

Obj/Cat

1 061149143CS B 6.2(A) [R] None STAAR: R1

2 061087595CS H 6.10(A) [R] None STAAR: R3

3 061087601CS D
6.F19(D)
[R&S]

None STAAR: R2

4 061089175CS G 6.10(C) [R] None STAAR: R3

5 E06018737CS A 6.2(B) [R] None STAAR: R1

6 061088600CS F
6.F19(D)
[R&S]

None STAAR: R2

7 061087645CS A 6.10(A) [R] None STAAR: R3

8 061087597CS H 6.10(C) [R] None STAAR: R3

9 061103919CS A 6.19(C) None None

10 061087623CS H
6.F19(E)
[R&S]

None STAAR: R3

11 E06018740CS D 6.12(A) None None

12 E06018739CS J
6.F19(F)
[R]

None STAAR: R1

13 E06018736CS A 6.2(E) [R] None STAAR: R1

14 061147778D F 6.14(C) 6.19(Aviii) None

15 061147786D
Answer should be something like the following, using  an
appropriate subordinate conjunction such as while, because,
although, if, etc. 

6.19(C) None None
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